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Chapter 3: 3-7 Operations on Functions (IC/HW)-Day 1 Date: é}’eriod:
“Find  (a) (f+8)(3) (b) (f-&)(3) (c) (fe)(3) (d) (F/g)(3)
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Find

(a) (f+g)(x), (f-g)(x), (fg)(x), (f/g)(x)
(b) the domain of f+g, f-g, and fg
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3. fx)=x*+2, gx)=2x"-1 4. fix) )=vx+5, gx)=vx+5 5. f(x) = g(x):ﬁ
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Find
(a) (fog)(x) (b) (g f}x) (c) flg(-2)) (d) g(f(3))

{ B.f(x)=2x-5, g(x)=3x+7 9. f(ﬁx) =3x*+4, g(x) = 5x -
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10. f(x)=2x* +3x-4, gx)=2x-1 11. f(x)=4x,  g{x)=2x>-5x
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olve the equation (f o g)(x) 239,
12. fix)=x*-2, g(x)=x+3 13. f(x)=x*-x-2, g(x)=2x-1

qﬁ(}d) K P()“%f\): (X{’gf’z - O ’[(9(%}) -‘ﬁ‘(zxqj = {)ZPL*I)Z~[:2X“})~}

3 Yy GX =0
W43 42 2x(2%-3) = 0



